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tWixed freview-ehaPters I-12

Sirnptiff. Assume that no

l" (3t - 2)(2tz + 5t + 4)

denominator equals zero. Each variable represents a posiiive real number'
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\ 25x

Alice is three times as oid as fuchie. if A:chii:'s present age is x, represent each per-

son's age 7 Years from now.

Thervidthofarectangleis24cmlessthanthelength.Theperimeterislessthan
172 cm. Find the maximum cirmensions of the rectangle ii each dimension, in centime-

ters, is an integer.

Faetor cornpletely, if possible. If rhe expression is not faCtorabie, wriie ..prime.,,

13.3x2*x-Z 74. y'- 5y'40

16. xz - 18x * 36
15. 4nz * 24n * 9

L7. -48y2 + 29y 't t.\. 3; - Scd - l2d"

20. At nootr, two trains leave stations at opposite ends of the line on parallel ffacks' one

train is traveling at 90 kmih and the other ai 96 h'n/h If the stations are 651 km apart'

how long will it be before the [-ains meet?

x-l )' 1

21. Express ?, i,*U 7 with lheir LCD'

Soh'e and graph the solution sei'
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ffi i ;< * ti $; vt"g iqr: f. h.=.* r* :-s I : t -1,',;'; :: ii r; s 
= 
: i

The hypoienuse of a righi na::g1e aai orre leg i:ave ieigihs a": i2 atd.7 resleciively.
Fi:id the iengta of tl:e oiher ieg io the itearesi tertta.

The numeraior of a fiaciion is 10 less 'rhal lhe delomfuaior. If 4 is adced ic each, ihe
3

vaiue ol" the resuliilg fraclroir is ;. Iini ihe onginal fraciiot.

S+ive eech eqiietic:i i1;: i:iiqt=!!iy.

zi.

40Lii ,

JI.

48
x*6 3-t*5

3'J.

34.

-

/ {r - I

!J

-<23 4'

3t*2:2t-I

)

J

5/2 - B0: 0

3t+2<5t-3 3i:. (x + 3)2 : 15

Solve each sysieru"

37" x+y:7 38" 5x-4Y:g
3x+2y:l2x*3y:4

40. The sum of iwo consecutive even integers is less than 84" Find the pair with the greatest sum.

Use ihe discriminant tc determine horz many real-uumber roots the equaiion has. Do noi solve the equation"

41.x2-3x*5:0 42.4k2-tLk+9:0

43. When 3 times a number is increased by 7, the square root of the result is 7. Find the number.

47" Graph:2x*y<3 48. Graph the soiution set of this system.

x*y>2
r-v21

(continued)
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t\Atvlt SCORE

Mixeet Review-Chapters 7-fZ {eantinueci}

Express in sirnplest form.

qe" g\n - z./:.rf+t/l + 3\,8) sa. 3\,5G\/Tl - sr/il

51.

:2

55.

els - s{z1z

a{+e * s""18

E ,-8
sz. 1/: V ,z

sq" \/i\/B

r//rite an equation in standard form for the line with slope - i that passes through

(-6,4).

Sclve Leave irraiional anstvers in simplest radicai forrrr"

56" 3t2 't 5t * 2: 0 51 . z2-Jz+4:0

the line with given values f(-3):5 and f(-4)-7'
59. Find the equation ol'the line wlth glven values rt-r)-J arru r\-T' /

,50. Find the greatest common monomial factor: l?albac|,54a2bcs,2Ja7x2c3

^-) ^5s -'3'
6i. Evaluate: 

^ -i3-

62. The sum of tq,o numbers is 12 and the sum of their squares is 78. Find the numbers.
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